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Y.

2l

3.

GENERAL KNOWLEDGE — |

Whé won the Nobel Prize 2014 in

literature ?

(A) Herta Muller
(B} Patrick Modiano
(C) Alice Munro

{D) Orhan Pamuk

Who won the Abel Prize 2015 ?
(A) Manjul Bhargava

(B) John Milner

(C) Michael Artin

(D) John Nash
L 2

Upanishads are als 5
(A) Ved \
(B) Puran

(C) Vedant

(D) Mone of the above

0125/NH — BN/RCE - E

I {7~ |

1, ad 2014 1 TR F e QR R
et 7
(A) T2l e
(B) Afes mifzami

3. 3ufe foer g & oft st sran 2
(A) 93
(B) T
(C) F5md
(D) St 0 2

™ & < o wm
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4. Mahashweta Devi got which of the
following award 7

(A) Sahitya Academy Award
(B) Jnanpith Award

(C) Padma Vibhushan

(D) All of above

5. WTA ranking is assaciated with
(A) Men's Tennis
(B) Women's Tennis
{C) Both Men and Women's Tennis

(D) Mone of above

6. Subroto Cupis related to which of the

following game ?

@Q\ :A} eIk

0125/NH - BN/RCE - E
4, VETTEAT 3ot Y HIAET TR T 3T ?

(A) T T=HEH
(B) Fdie

(C) wgm farsperor
(D) 3utrr |t

5. Zeeg A, e gt 2
(A) ge8 w
(B) afg=r | |
(C) =i e ey 2Fg
D g TR

.gg&aﬁq@aﬁwﬁaa%?

4

{A) Hockey
(B} Chess (B) s
(C) Football \Q (C) Tt &
(D) Cricket . O (D) e &
7. Which of these are cause 7. Trericaiaa o & = seragyw 1 v
water pollution& FE ?
(A) Coralreefs (A) e
(B) Sodium chloride (B) Tfzam Frse
(C) Arsenic (C) =i
(D) All of the above (D) W T
% w % o e

Space for Rough Work
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8. Ozone layer is harmful in
(A} Troposphere
{B) Stratosphere
(C) Both (A) and (B)
(D) Depending on the frequency of
radiation

9. Which of the following Statement are
true about GSLVD-6 ?
(i) Is a communication satellite

(i) Launched with
cryogenics

indigenous

(iiiy 1t is launched from Satishdhavan
space centre

(A) (i) and (ii)
y /é; (ii) and (i)
(C) () and (i)

(D) (i), (ii) and (i)

S

10. Which of these a%@’ed with

*Minamata Dis&
(A) Arsenic

(B) Cadmium
(C) Lead
(D) Mercury

0125/NH — BN/RCE ~ E

8, IS U BT &
{Aj?ﬁmﬁﬂtﬁ
(B) Tamh | .

(C) (A) 7 (B) A | |
(D) =% forferoor =1 sty o Frsf e 2

9. Sfi. v, v &€ -6 % gray § Y FUH
e ? |
(i) =8 T=R IwE B

(ii) w;}m@rﬁ%m
2 |

. {1(3? weftoa T #7 § waf
\ ¢ md
Q (A) (i) 7= (ii)
(B) (ii) eIt (i)
(C) (i) e (i)
(D) (i), (ii) e (i)

10. T T g HeftE 2 7

(A) =
(B) Frefirm
(C) wie

(D) merrdt

% & & Teruwm
Space for Rough Work
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11.  Which is the second highest Civilian 11, WHG & H0 o9 791 e [
Award in India ? Y7
{A) Padma Vibhushan (A) 98 frpsur
(B) Padma Bhushan (B) 95H uw
(C) Padma Shri (C) weH #t
{D) Bharat Ratna (D} wid I
12.  Who wrote “Silappatikaram® 2 1o “Fremadtmm’” Breds gra e T 7
(A) llango Adigal (A) e srfema
(B) Tirutalkatebar (B) Toreacrmaat
(C) Thiruvalluvar A2)
(D} Marsinh Mehta HEdl
13. "Hot spot” used in Cricket is ‘43 T Fuarn famn seETe ee afe
{A) Ultraviolet Imaging System ® (A) @A gt e
(B) Blue Light Imaging System : (B) e w3 gHem freeA
(C) Red Light Imaging Sy (C) te mge gufem fowem
(D) Infrared Imaging §ysé% (D) TERe i e
14. Common Wealt is going 14, ‘i 9w W 2018 =T TS BT 7
to be held in \
(A) Canada (A) SFTET
(B) Australia : (B) srreefern W
(C) Newzealand (C) @ﬂa‘@—ﬁ
(D) England (D) Foe d
& = o e sum

Space for Rough Work
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15. Vaman Rao Lakhe is popularly

16.

A7

known name as
(A) Lokpriya
(B) Janpriya
(C) Panditji
(D) Loknayak

Mame the Maratha Commander who

invaded on Ratanpur.
(A) Bhaskar Pant
(B) Raghuji

(C) Mahipat Rao

(D) Bimbaji Bhonsale

What is the ‘Dhanlaxmi Sc@
L 4
this state ?

(A) Employmen en

(B) Grant for B&r«d class

(C) Toincrease the number of female

child

(D) Employment grant

0125/NH — BN/RCE - E

15, I TE 16 39 T § Tfgg

{rA) leabe
(B) <rfia
(C) dfeasft
(D) WFATIFR

g o

16. T T AERAY 4 9Tel BT SAmafd

I M 91

(A)

. s

Q\(é} Hegd 1d
(D) ferearsft et

1?.'3%[{1?&311 ‘et AT = e 7

(A) TiE Tfgered & UsPm ag

(B) s o 2 ford argem
(C) == farg 51 & # gfs

(D) TSATR ST

T &d & T weam
Space for Rough Work
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18. Which of the following country is

19,

20.

higl’i\e_st importer of diamond ?
{A}; Belgium

(B} Canada

(C) India

(D) China

Whibh Bastar ruler was defeated by
|
Kalturi ruler Jajlladeo | ?

(A} Annamdeo
(B) |Vilastung
(C) Someshwar

(D) |None of these

|
Whit following is Minin
thh of the following is @ um

Suppr:}rt Price for ¢ ddy in

this Ftate in 2013-1
(A) T 1,310 ®
(B) 1T 1,345

(C) ¥1,285

(D) ¥ 1,410

Y

|

4

0125/NH — BN/RCE - E

18, Freferfiaa § & ey 3o € % vad w=r

A & 7
(A) HfFran
(B) Fam=r

(C) wra

(D) =

19. el Y16 Teeolad 99 7 75 F frg

sm@%mm?
Cy@ﬁmﬁn

* (C) =ity
(D) =z § i 7

20. ¥ USH H WM 9 FT =gaw wwedy

q79 74 2013-14 5 o

(A) 71,310
(B) T 1,345
(C) T 1,285

(D) T 1,410

TF & & T weme
Space for Rough Work
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21,

22.

23.

INDIAN ECONOMY

Atal Innovation Mission is setup
under

(A) Finance Ministry

(B) NITI Ayog

(C) Ministry of Skill Development and

Entrepreneurship
(D) Prime Minister Office

The “AMRUT” Project started by
Central Government in 2015 is
related to

(A) Rural Development

(B) Smart City Mission

(C) Financial Inclusion Plan
(D) None of the above

Which of these statements are

related to Foreign Trade Policy

(2015-20) ?

(I) Increase exports to 800
2019-20

(I) Raise India’s sha i@and
exports from 2% 7% by
2019-20 :
() Schemes s @emﬁandise
- Exports 1rn% (MEIS) and
Service Exports from India (SEIS)
(A) (1)and (Il)
(B) (1) and (i)
(C) (1), (i) and {iIT)
(D) None of the above

0125/NH - BNV/RCE - E

SR Fdsgaet

21, “srem wavE fw’ Rrwes e wenfom

b T 7
(A) fore waTer
(B) Ffifa amam

(C) et faeprd ot T HATRTEH

(D) W= wEieE

20, ¥ T TR 2015 H YA
(AMRUT) i gefea 8

(A)
(B)
(€)

N\

R (2015-20) & T 2

A
Ya g AR
i @ = T

T[_QF {im??

ﬁ@raﬁﬁwﬁ?ﬁmm

i?

|
() 2019-20 7= Frafa =900 ffeem ger

GEIE
{1} o Frafa o =1 B
qH, 2% o 3.0% F@HI

,: 2019-20

() “‘weiveEw e v st ad
“gide T e grear| St e @

(A) ()=l

(B) (1) (1)

(C) (1), () = (in)
(D) S9tea # =iE

% W o o e
Space for Rough Work
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24. “Perdrop, More crop” is related to 24. "W gm, ARET gty g

(A) Paramparagut Krishi Vikas Yojana (A) e F foeme e |

(B) Pradhan Mantri Krishi Sinchai (B) sarrh i feres A |
Yojana

(C) Pradhan Mantri Adarsh Gram (C) wurwElt sy I A &
Yojana

(D) Pradhan Mantri Gram Sinchali (D) wuwmt 7 = Fe |
Yojana

25. Which of these can be classified 25. @Q B Tpf e % s i

under “natural resources” ? . T ?

() Electromagnetic spectrum Q\{T) TRIERE W

() Transponders () FEIr=E

(Illy Coal, Petroleum, Natur () e, frm, wEER T

(IV) Polymetallic Nod&o (V) aieftierfems Jged

(A) () and (1§ \Q (A) (1) et (1)

(B) (1), () and% (B) (1}, (1) e (Iv)

(C) (), () and (IV) (C) Iy, (1) Fem (1V)

(D) None of the above (D) 3w ¥ HE

T B & Y o=

Space for Rough Work
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26. What part of total land of India is

covered with forest 7
A) ! art
(A) P
(B) 1 art
3 p
c A art
©) g P

2
(D) 7 part

27. In"Priority Sector” Lending is given for
() Agriculture Sector

(I Students’ Educational Loan

(i) Budgetary Subsidies
(A) (and (1)
(B) (I)and (11)
(C) () and (II1)

\Q «
(D) Mone of the above® 0

If Repo Rate inc @n,

(A) Money supp reases

(B) Money supply increases

28.

(C) Money supply may increase or
decrease

(D) Money supply shows no effect

0125/NH - BNNRCE - E

06, T T =1 FRa Y et | aﬂlﬂﬂ%ﬁ% ?

|
1
(A) 5 ™
1
®) 5
1

— "M
8

. @gﬁm%ﬁﬁmw% ?
* T

Q\(ﬁ} feremeff et o

(C)

D EEEEEEI

(A) (1) and {Ill)

(B) (hand (Il)

(C) (I} and (1)

(D) 39l # 9 =g Tl

28, af “Reirye” # gfs o 2,
(A) T TER FH T2
(B) He1 SO =@
(C) T[T SRITL W IT AT €l Tehall 2

(D) Hmmmaﬁs‘wqgl‘fﬁm

TF wE & &
Space for Rough Work

Set-B



% ' -12- 0125/NH — BEN/RCE — E

29. Which is the most important rate for 29, T # Wi 3 W Freaor ¥ R v

monetary and credit control in India ? | F] T qg(—ﬂ?f AT RIS 7
(A} Bank Rate (A) &% &
(B) Repo Rate (B) 1ur =X
(C) Cash Reserve Ratio (C) g AR A
(D) Statutory Liquidity Ratio (D) wTiee T A
30. Rural Infrastructure Development 30. odir sremEeT e Tt e ot 2 7
Fund comes under
(A) SEBI (&
(B) RBI QJ IR fiord e
(C) NABARD ‘(c; B
(D) SIDBI @ (D) feresh
31. Pradhan Mantri Kaushal J4 31, W Se fawm @ § mite 2
Yojana includes . O
(h Skil Cerﬂftcatm@ (I} =ieret TR
(I} Monetary () HaT qUE=RTL
(A) Only (1) & (A) T (1)
(B) Only (1l (B) & (1)
(C) Both (1) and (Il (C) (1) e (i) 3t
(D) None of the above (D) IR o =g T

% W % o wm
Space for Rough Work

Set-B



32. Housing for all by 2022 is aimed for

() Urban Areas
(I} Rural Areas

(A) (I) only
(B) (1) only
(C) Both (f) and (II)

(D) MNone of the above

33. The term “fracking” is used in the
context of

(A) Fertilizers

{B} Metal-ores

(C) Shale gas

(D) Ceal

34. Exclusive Economic zone exten

upto

Zone

(B) 200 nautica
waters

(=] m territarial

(C) 200 nautical miles from baseline
from which breadth of territorial sea
is measured

(D) 250 nautical miles from territorial
waters

(A) 200 nautical miles frem @;ms

13-

i

0125/NH - BN/RCE - E

32, “usft e o :ea-ram 2022" I ALA &
(1) ot & .
(i) TefioT &
(A) T (1)
(B) &k (1)
(C) {1y = (1) 2
(D) I | %7 Tl
33, ‘R SereinT Foped T 2 7

(A (St

o | AR (4T 3T
\p it 7
QD}@W
34, wFEERE TR S fr
(A) F-ErEd SH H 200 TR A 7%

(B) ZRerfaet 9= § 200 Férwa Hiel o

(C) e o, fous EifEe aet
=R At ST R, 200 Al e 7

(D) feifoast grex & 250 Fifewa fiw 7%

% HE & o v
Space for Rough Work
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35. How many industries are reserved in

0125/NH - BN'/RCE - E

35. Wi =l el afvenies fife o st wtd

public sector in New Industrial Policy 23 % o amlira 3o < ve Rt 2 7
of India ? '

(A) 3 (A) 3

(B) 5 B) 5

(€) 6 (C) 6

(D)@ D) @

36. Which of these is related to organic 36, Feafeafaa 4 & =t awifes gt @

farming ? a2 7

{I) Chemical Fertilizers
' () Green Manure

() Qil Cakes

(IV) Press Mud ‘N J) dm e

(A) (11}, (11 and (IV) Q (A) (1), ()= (V)

(B) (Ily and {IIt) (B) (1)1 (i)

(©) |y and (V) (C) ()@ (V)

(DY (1), (1), (1) and (1) \Q (D) (1), (1), ()T (V)

L 4
37. According to July 2 % Bank 37. 9eE 2015 # st fava e i ford &

Report, India w many FTTER IR Aefeaasy ofa o fferam
Trillion IZ:u:aIIarXr my ? SRR TR 7

(A) 2 Trillion Dollar (A) 2 feferam gfer

(B) 3 Trillion Dollar (B) 3 feferm st

(C) 4 Trillion Dollar (C) 4 Refer =fer

(D) 5 Trillion Dollar (D) 5 Rfere =ier

T & & o s

Space for Rough Work
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38. New Development Bank is

headquartered at

(A) Beijing, China
(B) Mumbai, India
(C} New Delhi, India
(D) Shanghai, China

39. Who among these is associated with

definition of FDI and FII 7
- (A) Jalan Committee

(B) Urjit Patel Committee

(C) Mayaram Panel

(D) Nachiketa Mor Committee

What are “Masala bonds™ ?

(A) Rupee denominated bon
by International Mone
(IMF) *

(B) Rupee denorgi
by REI

(C) Rupee denominated bonds issued
by International Finance
Corpoeration ({IFC)

(D) Rupee denominated bonds issued
by BRICS bank

issued

0125/NH — BN/RCE — E
38, ‘' YT % fed @

(A) shfse (<) |
(B) 71§ (vre) A
(C) 7 feett (vr
(D) = ()

) H

39, Feferfiaa § & %9 FDI 941 Fll
Yu=fiE e ?

wﬁ%
Q Swﬁwmqﬁﬁ

40, “‘gomen | W R ?

(A) STaETSTE I I z;rﬂ TR w9
fenfiriee s

(B) st frore S gro st v e
i3

(C) Fawrrseta form Frm gmo ST ¥
femfiries wfs

(D) ﬁwmaﬁmﬁmﬁzm

% & & feru wm
Space for Rough Work
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ARITHMETIC AND LOGICAL ABILITY

41.

42.

The product of two numbers is 97461
and their greatest common divisor is

21 then their least common multiple is
(A) 44861
(B) 4641
(C) 4861

{D) None of above

A car travels a distance d on a straight
road in two hours and then returns to
the starting point in next three hours.
Its average speed is

O
\\&\

(B)

wio

(C)

(D)

41.

42,

O
NI

0125/NH - BN/RCE - E
HeTUTT UF Alieheh Graat

Ffd 31 37T 1 UEFHE 97461 €1 1 IAHT
THTH GAMEE BT (Y HEGH HHEAE
213, @

(A) 4461
(B) 4641
(C) 4861

(D) ¥ g 7

i ggwwdgli e me i
et R 7 AR foreg o AT 3 52 H
I ST AT B | FTHT SPa I B

|

(B)

[ Bl 3

(C)

{®))

% & % oo v
Space for Rough Work
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43, Ifd=gcd (a, b), then ged [_d- EJ -
(A} 1
(B) b
(C) 2
(D) d

44. Aperson purchase a scooter at certain
cost. After two years he sells it at 20%
loss. If he had sold it for ¥ 4,000 more
he would have got 20% profit. What
was the purchase of scooter 7 '

(A) 10,000%

(B) 20,000

(C) 8,000%

(D) None of above

45, The value of

(1 B)% X (2.?))4

A7-

0125/NH - BLIFICE -E

43, 3fed=ged (a, b), 9 ged [%%] =

(A) 1
(B) b
(C) 2
(D) d
44. TF iR TF el R Figa W F

FAT R A 99 9% 98 W 20% w1 A
F=ar 2 | gRk 98 T 4,000 # sgar 3@

20% T BYT, THet o1 54 oA F T 7

(A) 100
N 0%
. (Ki,nmf

Q\n’; i & @ B

5. freforfaa =1 9@ 3@ =0

. ( .5)% % {2,?))4

10)@ . O : 10%
A) 12 @ w12
) = \Q 12
TR ® T
12 12
© o, 20
10% @k
(D) None of above (D) I # § =g e
w W &
Space for Rough Work
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48, Whiich of the following is least ratios 7 46, Tfafs o e s o w7
go| 87| 8% ... 47 25 37 67 , 47
7178721 " 7'83'21 185

£ 25
A = (A =
a7 3v
B) 3 ® =
B7 67
©)| % ©) 2
| 47 47
il ‘D}é\

47. Complete the following series : 47, Sroft oot = ;

BZ, HT.NN,?,ZB r HT, NN, 2, ZB

(A) LF Q ‘{A} LF
(B) 8X d> (B) SX
(C) TH é (C) TH
(0) Tl R OQ (D) TI

48. Choose the corr %aﬁve to 48. FrAferfiaa duft =it gl Fot 27g sk e
5;:‘ b

complete the ing series A -
abca  bcaab %a® bbc abeca _ bcaab _ca _ bbe _
(A) ccaa ' (A) ccaa
(B) labac (B} abac
(C) bbaa (C) bbaa
(D) abba (D) abba
T % B wm

Space for Rough Work
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49. Select the alternative box which can 49, 92 SiFme =g I w0 S {rﬁz ‘A
be formed by folding the sheet ‘A’ TrgHT ST 1 WA B '
AlBlc]|D . axlBle| D
F
® hﬁ | @
(®) hﬁ B
L 4
‘
©) hﬁ 2 ©) hﬁ
(D) None of above Q (D) 3w o | i T
*
50. Find out the two @io 50. frerfiem s & fir Rt e
interchanged IQ the ¢ efterter Tl B0
following equati e correct : —
5+3_5x5ﬁa§5 5+3-5x5+1=15
(A) x and — (A) x 3T~
(B) xand + (B) x 3+
(C) + and - (C) + 3 —
(D) +and — (D) 43—
% W &+ e wm

Space for Rough Work
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51.

52.

Ram borrows a certain sum of
money from a bank at 10% per
annum at compound interest. The
entire debt is discharged in full by
Ram on payment of two equal
amounts of ¥ 1,000 each, cne at the
end of the first year and the other at
the end of the second year. What is
the approximate value of the amount
borrowed by him ?

(A) ¥ 1,852

(B) 1,736

(C) ¥ 1,694

(D) 1,792

In a school there is ratios of 4 : 3
between boys and girls. If the number
of girls is in increased by 10%

a1

:694
R ¥1,792

\0
Q@ foref! gt i e o ergfAt = argaE

0125/NH - BN/RCE - E

T T o o 10% aTfia Swafe == 6t
T FO TN SUR el & | 79 39T F
¥ 1,000 F1 3t Forvat # g 2 | wem Reva
Teel 3 % sia d qu g v @ ad &
it 3 | 6 3 2 3R ol T
TR 7

(A) T1,852

4 : 32| af2 wefndt £ g=m 10% 583
W I W@ 363 BT R, o = § 5

number is 363. What is al Terentehat Y s afet foert ¢
number students in scfi ?
(A) 753 6 (A) 753
(B) 803 \\9 (B) 803
(C) 770 (C) 770
(D) None of above (D) 39t & F g et
W wE W fore v
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53. What is the average of first thirty

natural numbers 7
(A) 20.5
(B) 15.5
(C) 7.75

(D) None of above

A bottle is full of dettol. One fourth of
the dettol is taken out and water is

54.

added this process is repeated thrice.
What is the ratio of dettol and water

after third time ?

(A) 28:36

(B) 25:39

(C) 15:49 .

(D) None of above

IS
What will be next r‘u@che

0125/NH — BN/RCE - E

53. wum diE TERER HEe o ST e ?

(A) 20.5
(B) 15.5
(C) 7.75

(D) It 1 & ¥

54. Qma“maﬁ%mw%mﬁ o =t

e # g s S ) Al R whE
GICE: T STU A1 He] /1 % areETa |

TS 1 AT I

’\g)za £ 36
Q (B) 25: 39

(C) 15:49
(D) Syl # @ =ig e

o 65. mmﬁmﬁwm?
following seque ?
2,10, 30, 58,....\< > 2,10, 30, 68, ....
(A) 130 (A) 130
(B} 13 (B) 115
(C) 125 (©) 125
(D) None of above (D) e & 9 7

Space for Rough Work
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56. Find the next term in the following 56. Trmfcifas s1gem 9 s W= @ R

sequence.

9A, 11B, 158G, 23D, ... 9A, 11B, 15C, 23D, ...

(A) 85E (A) 35E

(B) 87E (B) 37E

(C) 39 E (C) 39 E

(D) None of above (D) Wi o F1E 7

E

57. What will be the next figure in the 57. Freafarfign sgem § svren fm wngm ?
following sequence ? ' ‘
' X
f 10 4 X Q1|0
b4
o X
L L 4 O x
i | XS
(A) Q\ (A)
: ;CD 0
(B) (B)
3 ®\0 5
(C) (C)
O X O X
(D) None of the above (D) 3T § & i 78
% T % e e

Space for Rough Work
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68.

59.

If‘a’ means +, ‘b’ means —, ‘¢’ means
x and ‘d’ means + then the value of

(8c7)c(7a5)b(6d3)d(3b2)
(A) 650

(B) 375

(C) 670

(D) None of the above

What number will come in the blank
space in the following diagram ?

58.

58,

0125/NH — BN/RCE - E
afe ‘a’ = I +, ‘b’ F Hed —, ‘¢’
Taed x 3 ‘d' F AdeE + g, dl
Bc7)c(7a5)b(6d3)d(Bb2)

(A) 650
(B) 375
(C) 670 '
(D) I H E wE T

ﬁm%%aﬁaﬁar&ﬁmﬁaﬁqmm
w7

3|5|7|a4 |
289|445
1 213 |14
53|27 0\
(A} 21 Q (A) 21
(B) 19 (8) 19
(C) 17 \Q (C) 17
(D) None of above O (D) I & HE T/l
60. What will be ne @in the 60. Freferfeaa srgem mq&wﬁm
following sequ H. S, F,UD,?
H,S5,FUD,?
(A) W (A) W
(B) Y B) Y
(Cy © (C) O
(D) None of above (D) IwrEE | & S T2
6 wE & fom e
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COMPUTER RELATED KNOWLEDGE

81. A pr_inter cannot be used to print
graphics

{A) Inkjet Printer
{B) Thermal Printer
(C) Daisywheel Printer

(D) Laser Printer

Ctrl+V is used to the content

of the clipboard at the cursor,

€2.

(A) Cut

(B) Copy
(C) l:’aste
(D) Undo

63. In MS Excel worksheety"
Function” dialogue bo e
opened using keys

®®\

-24-
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HEAE [ A=l

61. & fim Rre wwim miew B 731 3g
i e s wwa
(A) iz T
(B) ydar fi
(C) ¥efterer et
(D) or i

AT & s 9 o % ford
Ctrl+V BT R |

(

62.

QQ fcnﬁe

63. UAUH THW Tweie § A keys w1 3w@m
F “Insert Function" SR@EM w9 B
T &

(A) F3 (A) F3

(B) Alt + F3 (B) Alt+F3

(C) Shift+F3 (C) Shift+F3

(D} Ctrl + F3 (D) Ctrl +F3
™% wd % foro s

Space for Rough Work
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i

84. To find required text in Powerpoint 64, ETETEE T ) TegeH i aifesd T
slides “Find" command is provided Wi g e “Find” FATE AU
in tab. I 2 |
(A) Format (A) HHZ (Format)

(B) Insert (B) 352 (Insert)
(C) Home (C) =W (Home)
(D) View (D) = ({View)
65. Which one of the following is not a 65. freftas § & Fen il frefa (TR
!
name of early computer ? THYA 1) FAX FH AH :ﬁﬁI% 7
(A) MARK | (A |
(B) ENIAC (BRENIAC
L 4

(C) UNIVAC | Q\‘(C} UNIVAC |
(D) ADA | ® (D) ADA |
66. Which of the following % Ee 66. Praferfian § & wiTen Aeerde A

¢ (arfarfa wif 2) 7

memory ?

(A) PROM ’\\& (A) PROM

(B) ROM (B) ROM

(C) RAM (C) RAM

(D) EPROM (D) EPROM
@ w1 & o e
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67. What is youtube ?

68.

€9.

70.

(A) Video Making Site
(B) Video Chating Site
(C) Video Sharing Site
(D) All of these

Linuxlis a/an operating
system.

{A) Windows

(B) Microsoft

(C) Mac

(D) Open source

It is a computer animation software
(A) Flash

(B} Maya

(C) 3DS Max

(D) Al of these

The correct sequence of ;

0125/NH - BN/RCE - E

67. g-S=E TR 7
(A) Trfem ofdm o=
(B) fafea afén mme
(C) fafear 3=5fir wwe
(D) I w+d

68. o TH A e B

(A) Fem
(B) AERETR

{G)ﬂm g
Q:gaqﬁﬁmamw%
(
@m

(C) 3-Eiug AT
(D) ST Tt

70, wgdl WERW &A1 % HTET WA AT

media according to thejriiereasing (storage media) 1 9& FH 2

storage capacity

(A) HUD-CD-D\@T&}; (A) HVD-CD-DVD-Bluray

(B} CD~HVD—ﬁVD-Biuray (B) CD-HVD-DVD-Bluray

(C) CD-DVD-Bluray-HVD (C) CD-DVD-Bluray-HVD

(D) CD-DVD-HVD-Bluray (D) CD-DVD-HVD-Bluray
% wd & o wm
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1.

7e.

73.

In a MS Word document “Hyperlink”
can be inserted any where using the
following keys

(A) Ctrl +k

(B) Alt+k

(C) Shift+k

(D) Ctrl + Shift+k

In a MS Excel worksheet calculating

a formula = 15 (, displays an error

(A) # NULL
(B) #DIV/O!
(C) # NAME ?

(D) None of these

Which of the fmiowing.de@u

used for backup ?

(A) RAM Q
(B) Hard disk\
(C) ROM

(D) Processor

27-

6@

Tl

72,

0125/NH — BN/JRCE - E

T 72 grgie 1 fore wrm W e keys
(- w1t ) T ST T TR STt

ST TR B |

|
(A) Ctrl+k

(B) Alt+k
(C) Shift+k
(D) Gtrl + Shift + k

g uEeE ahie § g3 (formula)
—'15 0 T et g 2

ULL

(C) # NAME ?

(D) T 9 I Tl

73, Tretrioa 8@ Smar e (v S

& fordl oft e AT R 7
(A) RAM

* (B) Hard disk

(C) ROM

{D) Processor

™ & & e e
Space for Rough Work
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74.

75.

76.

A computer peripheral cannot be
cunn;ected to a computer using the

device

(A) USB

(B) Parallel Port
(C) BIOS

(D) Serial Port

When sending an e-mail, the
line describes the contents of

message.
{A) To
(B) CC

(C) Contents

What is a cookie ? O
L 2

(A) Hardware @
(B) Web Bmwsx\?

{C) Afile in your cormputer

(D) Modem

-28- 0125/NH - BN/RCE - E

74, =9 feamm & IEM ¥ U wrg v
T e # e Tl S aewar g

(A) 3, . .
CIRIGERIE
(C) wwta

(D) ffs 9

75. S-U WSQ EEE, _ @EA 6eN
wefifa w2 |

. Kf

*
1 Gontents

(D) Subject ’30 (D) Subject
Q 76. FREFE?

(A) TR

(B) o STas

(C) Tk Fr H OF e
(D) wfen

o & & oo e
Space for Rough Work
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77. A smaller version of an image is
called a
(A) Clipart _
(B) Portable Network Graphic

(C) Thumbnail
(D) Bitmap

78. Which one is not a video file
extension ?

(A) MP4
(B) JPG
(C) .AVI
(D) .QT

79. What is Firewall ?
(A) Operating System

(C) Computer Virus

(B) Network Security System é

-y

rce Loader

(D) Mone of above

80. URL means
(A) Uniform Re
(B} Uniform Resource Locator
(C) Universal Resource Loader

(D) Universal Resource Locator

-29-
77. S o1 Giar B9 FE ©

(A) faeaTe

(B) dréerst Jedeh TIfee
(C) s

(D) foreha

78. Fwn fifeat FEE waEw 1€ T 7

(A) MP4
(8) .J

&
O

(A) AT finen

(B) e Rl form
(C) Tz T

(D) T & 1

80. URL =1 awew 2
(A) i Rt T
(B) TFwM fEmd Tt |
- (C) gheEe fEH

0125/NH - BN/RCE - E

TF wE & Tou e

(D) ghreda fE™ ae
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81. mﬁmwzﬁﬁﬁmwﬁ 16-16
AT gt ¥, e
(A) et
(B) <
(C) =
(D) e

aTemed W AT 9fF @ w1 T #51
FT-YIE 1 Tl it T T el & 7

82.

(A) Y
(B) 74
(C) T
(D) =@

o

83. Trrifiem 1 @ =ian w=e

gt AE 2 2 &
(A) FoS Q

(B) Tt S

(C) At

(D) =15

6\0

~ 0125/NH — BN/RCE - E

HINDI LANGUAGE/&= st

ga. w7 w ¥ @ oA d

(A) I AT
(B) 391 ¥
(C) SRR & _

(D) 3ot T A wS

85, Pt A d AT R TR

{A}&ﬁaﬁaﬁmm%l

* (B‘ o1 Fean TEEA ®9 ¥ Rear =
AT |
) T ) e s i wEm A R
(D) T @il =erEt & IE § T
B2

86. Frifed # @ forg veg o T &I § 2

(A) T
(B) fa=e
(C) =HHA

(D) wTE

T & % e
Space for Rough Work
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87.

88.

89.

80.

S & N T F IE R 2
(A) TR
(B) ¥
() "
(D) =

‘s10g Ue 1 TR 31 ey
(A) T FeR o W T e
(B) = §

(C) T e o W FE wE A E
(D) =2 T T

Tl Tt fir SrETen
(A) weH

(B) 3T

(C) =

(D) sy

O

-31-

(D’\g{wﬁ
&
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91, T & Term-gwa yes s ST hifsd |

(A) FHeU |
(B) AwrH
(C) st
(D) T

92, T d & e vee feyw 2 2

(A) 3T

(B}é@ I

93, TreriiRa § & sarRte 1 gl & o T

@ g |

(A) sfmesrTEa il Fen vEg & § o
g

(B}@ﬁnﬁmﬁfmmﬁﬁn-@m%l

(C) et =1 =i oft & g -Fifd F
mﬁa@?qﬁrﬂ;

(D) @nsft T # W wifer )

6 & o for s
Space for Rough Work
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04, Frifira & B srriE T 1 I

EGRE
(A) T

(®) T

(C) dramm
(D) Fregidm

a7.

98.

0125/NH — BN/RCE - E

<Tef fBlig 7 2R g+ Bt w01 s Ren
STt B FET I -H AAFR AR 7

(A) el

(B) Feruma

(C) v

(D) 7=

mm@um%
(A) TR

95, &, A, F-FHAFA AL ? (B)
i ] (C)
(A) HZF == Tﬂétl&
(B) @ o . @% E
(C) =1 Q\Wi%iﬂqﬁﬁ&hﬁww%?
L NEGES
i (B) e
iR '8 e i 2 \Q S
96. ‘31 o+ TR O
. (D) o1
wwm O
I Q 100. =7 @ %1 Tt g F@ g 2
(B) &4 \' ) i
(©) =i (B) T
(c)
(D) dTer=d o
™ w W% ot v
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101.

102.

0125/NH - BNVRCE - E

ENGLISH LANGUAGE/3iirsit wrar

Find out which part of the following
sentence has an error. If you feel
there is no error, the letter IV’ will
signify a no error response.

| asked him how could 0o
| i

if it started raining. No error.
1] v

(A) 1
B) I
() m
D) IV

He urged the Council to reduce the
rates.

Which of the following is/are the
correct passive form/forms of the
above sentence ?

(i) The Council was urged t

103. Choose the correct spelling from the
given alternatives to fill in the blank

- |
and complete the following sentence.

The
was the sound of a gun shot.
(A) que

(B) cue

(C) queue

to begin the race

(D) cueue

104. Se e froup of words that is most

Q imilar in meaning to the idiom
| ¢ i¢apital letters.

\ ¢

@Q BRING HOME THE BACON

(A) To attract clientele
(B) To take up a new job

the rates (C) To achieve something successfully
iy TheC il ed 16 !
(i The Gounat wers{d ﬂ’ Boues (D) To purchase a new house
the rates .
(iii) He urged t es should be -k
S diasad 105. The plural of thesis Is
(iv) The rates were urged to reduce (A) thesies
(A) () (B) theses
(B) (i) and (ii) (C) thieses '
(C) (II], (i} and (iii) (D) thesis
(D} (iv)
W wE oY W

Space for Rough Work
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106. Find out which part of the following
santt-:-r?ce has an error 7
The person who talks mostly
| Il
i_s_oﬂg_g_thg__gn_e who does least.

I IV
(A) 1

(B) I

{C) i

(D) IV

107. Inwhich of the following sentence the

use of the idiom 'buckle down’ is not
appropriate.
(A) They chatted idly for a few

mqments; then each buckled down

to work.

(B) Jim was fooling around |
studying ; so his fat Im to
buckle down. %

{C) He stood th &k!ed down

when told that he had won the

award.

(D) None of the above

-34- 0125/NH — BN/RCE - E

108. The proverb ‘Speak fair and think

what you will' is related to
{A) Hypocrisy

(B) Contempt

(C) Enwvy

(D) Flattery

109. Which word is not an antonym of the

word 0@
(A) rent

0
) Clever

4

Q_

110. Which word is not a synonym of the

(D} Ajar

word ‘even’ ?
{A) Abreast
(B) Just

({;) Placid

" (D) Despicable

T 4 & o wm
Space for Rough Work
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111.

Choose the word nearest in meaning
to the underined part of the following

sentence.

~ Romila is careful that every detail of

112.

- everything is correct.
(A) Fastidious
(B) Thrifty
(C) Prpfliéate

(D) Swanky

Choose the most appropriate one

word substitute for 'tha underlined

 expression from the given

alternatives.

Australian animals tr@u@u

114,

116.

>

(a) &
@wg blue ribbon

0125/NH - BN/RCE - E

113. Choose the correct sentence.

(A) Though he is fat but he runs fast
(B) Though he is fat still he runs fast
(C) Though he is fat yet he runs fast
(D) Though he is fat, he runs fast

Choose the incorrect expression.
(A) He pointed the tree

(B) He pointed to the tree

(C) He pointed at the tree

(D) He pointed out the tree

ng ribbon

h statement regarding the above
Sentences is most appropriate ?

{A) Only ‘a’ is correct
(B) Only b’ is correct
(C) Both ‘a’ and ‘b’ are correct
(D) Both ‘a’ and ‘b’ are wrong

Prices have gone down recently.

i 1186.
: : In the above sentence, the word
(A) Marsupm*\? ‘down’ is used as
(B) Mammals (A) a preposition
{B) an adverb |
(C) Nuctumals (C) averb
(D) Homosapiens (D) an adjective
™ & & foru wm
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117,

118.

a) How are films made ?

b) They with the hard
wark of hundreds of people.

Choose the most appropriate
altern?‘rive to fill in the blanks of the
above sentence.

(A) are made
(B) made
(C) were made

(D) are being made

“You mustn’t cross the road against
the red light".

Choose from the alternatives given
below the most appropriate sentence
which \gives the same meaning i
Heporfted Speech for the ab
sentence and is in correct E

(A} He told us we mustp’
road against the r{@

(B) He told us %tto cross the
road against ed light.

(C) He told us we didn't have to cross
the road against the red light.

(D) He told us we wouldn’t have to

cross the road against the red light.

0125/NH — BN/RCE - E

119. Match the following nouns in

4

Section "A’ with the opposite gender

in Section 'B’
Section A Section B
1) Drake a) Filly
2) Buck b) Bee
3) Colt c) Duck
4) Drone d) Doe
(A) ,&—b,3-¢,4-d

d,2-c¢,3-b,4-a

\(@} 1-¢,2-d,3-a,4-b

Q{D} by geEged, g

120.

Pick out the correct preposition that
is most appropriate to be attached to

the word ‘Interfere’.
{A) against

(B) with

(C) by

(D) on

W & % o wm
Space for Rough Work
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GENERAL KNOWLEDGE - Il

121. Which one of the following is a

“scalar quantity” ?
(A) Velocity

(B) Force

(C) Energy

(D) Magnetic field

122. Fermentation is
(A) Aerobic respiration
(B} Anaerobic respiration

(C) Cellular respi'raticn

123. When was the o

movement start

(A) 1934 \
(B) 1904

(C) 1914

(D) 1947

0125/NH - BN/RCE - E

" 7 ~
121. F=dg®m ‘RmaR” 2 ?

(A) &

(B) ==

() =

(D) <iehra &

Q\m} s =@
Q (C) il T

(D) None of the above é

(D) S H & 15 TRl

123, WHE o TEHR TS i JHT T ?

|
(A) 1934 '
(B) 1904
(C) 1914

(D) 1947

T & & R wm
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124, Who '_est'rmates the data of National

Income in India ?

(A) Planning Commission

(B) Central Statistical Organisation
(C) Reserve Bank of India

(D) Finance Ministry

125. Inwhich latitude temperate zone falls 7

(A) located between latitude

(=1

0% — 23% Morth and South of the
equator

L]

(B) located between latitudes 2315 to

=

651
2

North and §0L®Qe

equator

(C) located bet latitudes

65% —80° North and South of

the equator

(D} Mone of the above

0125/NH - BN/RCE - E

124, 9 ¥ U 3G F7 e fews g
fora smaT 2 2
(A) FreET TR

(B) ¥ qifewhia de
(C) wreg figd &=

(D) Tom "o

125, T averrer o wiion ey s g ¢

WW@W\&

23 L & e

L 2
0
b{B} e (@1 § I U SfEr H Esg
ﬁaa%oaim%qw
(C) e tam & IR ud =fEmr |
66-;-0 | 90° & & T

(D) 39 | # ¢ e

% W % T T
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126.

T2,

128.

When was the nationalisation of

Reserve Bank of India done ?
(A) 1959
(B) 1947
(C) 1945

(D) 1949

Which soil is formed by the
weathering of crystalline and

metamorphic rocks ?
(A} Red soil

(B) Black soil

(C) Desert soil

(D) Lateritic soil

Which among the foll

-39-

)]

0125/NH — BN/RCE — E

126. Tiord o 27w Siean =] TgiaeRT e gt ?

(A) 1959
(B) 1947
(C) 1945

(D) 1949

107. Treda v FEmiE SEE % T 9
el 2

128, fror d @ weht < e i gl waifes

worlds second hi F AR 7 |
(A) Kanchenjur& (A) T |
(B) Dhaulagiri (B) el |
(C) Godwin Austen (K2) (C) Tefem snfed (K2) |
(D) Nanda Devi (D) a1 3=t |
T & & oo e
Space for Rough Work
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129. At which of the following place wars

0125/NH - BN/RCE - E

129, Frafafas § & frg wom W gedios em

between Prithviraj Chauhan and S e T % +fie Ze g d ?
Muhammad Ghori were fought ?
(A) Panipat (A) T
(B) Talikota (B)
(C) Tarain (C) T
(D) Kannauj (D) F=t
130. At which of the following place 1= mw R AREE F
Sher Shah's tomb is situated ? ¥
(A) Delhi .
\(’
(B) Sasaram Q B) WHRm
(C) Daulatabad (C) reramag
| * mm ﬁm ,q_é_s.’n* .
131. International Nelson a;ay is i R for il =
celebrated on wh R ST 3 2
(A) 18t July (A) 18 TS
(B) 215t July (B) 21 =TS
(C) 31t July (C) 31 g7
(D) 3 June (D} 353
W s & foro wm
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132. Which of the following is related with

“Saraswati Scheme” in this state 7
(A) Education Expansion

(B) Book Bank |

(C) Book Publication

(D) Cycle Distribution

133. Reorganisation Bill for this state was 133,

passed in Loka Sabha in

(A) 20 Dec. 1996 : p@
(B) 31 July 2000 : . é}m e 2000

(C) 21 July 1998

(D) 1 November 2000 ’Eq}

(B) Mahanadi, S ivnath, Hasdev

134, =@ TS * USR] GUR A

0125/NH — BN/RCE - E

(A) T =1 TR
(B) T 5%

(C) &= SHRH
(D) wTFe fera

132, WU T AT e e ® 2

T4 TS T8 @ |1 o e Wi

1996

*

(C) 21 gemE 1998
(D) 1 F&Ewit 2000

1 et eftE 2 2
(A) Hewd, S, W

(B) TEFEl, fiEE, saed

1| FEEl A

(C) Mahanadi (C) werE
(D) Hasdev, Shabari (D) THed, et
% w8 % foru Tum
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Whi‘!ch is declared as World Book
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135. 135, TR A 2017 % foro 6l oo 9% Sfvea
Capital for 2017 by UNESCO 7 Tifia a2 e
{A) Madrid (A) e
(B} New Delhi (B) =% fewett
(C) Conarky (C) =Rt
(D) Bangkok (D) SR
136. In 2015, Bharat Heavy Electricals 136. 2015 # wa ¥ ey ffde U
Limited has started 800 Megawatt 78 = % g B 4 600 tmame & afe
thermal unit in which district of this EGaE] ?
state ? O
(A) Raigarh . @Wﬁ
(B) Bilaspur \Eﬁ} feremag
(C) Jahjgir-champa Q{G} EIEiteiEl
(D) Raipur ‘ (D) Tt
137. Which of the following imn@ 137, Tegafd & &1 SeF U A i 8 B |
in the power of Pardon ident 7 o e widfe i 2 7
(A) Reprieve )& (A) wlerervs
(B) Remission (B) aiEr
(C} Respite (C) Frm
(D} Parcle (D) oA
T W W e T
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138.

139.

140.

At which of the following place

Gautama Buddha was born 7
(A) Lumbini

(B) Uruvela

(C) Sarnath

(D) Gaya

Which of the following award is given

for music in this state ?

(A) Raja Chakradhar Award
(B) Mini Mata Award

(C) Daw Mandaraji Award
(D) Bilasabai Award

During 51, 8! century the rul

area '‘Prasanna Matra' 0‘|s (8

which dynasty ? @

(A) Sharbhpuri s
(B} Kalchuri Vans
(C) Pandu Vans

(D) Nal Vans,

0125/NH — BNWVRCE - E

138, fr=ffas d @ fem v 9 1w g2 &1

SR g AT ?

(A) et
(B) F&al

(C) TR

(D) T

139, 39 U9 1§ difta faen & forg e o

L 4

e <t
(A g
) AT JEERT

Q\m}mmw

(D) forerman o ST

|
140, e 5, 6o yEed 4 A

FEATen S yu-aE | F 59 4
lfra & 7 |

(A) TR =

(B) wergit =W

(C) g =

(D) =1 =9

TF wid & Tom v
Space for Rough Work
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141. W Speaker of Loka Sabha gives a
decision for the conduction of house

the concern member is not consent
with this, what will happen ?

(A) The decision of Speaker will be
final and binding to the house

(B) The concerned member will
appeal to the house

(C)| The house will decide by majority
(D) The Prasident will interfere

142. Which is not correct about Finance
Bill 7
(i} | It can be introduced in any
house of the Parliament |

{ii) It can be introduced in Loka Sabha
only

(iii) 'On deadlock between two houses
President will call joint session
Parliament

{iv) President can refuse t
return the bill to the Parlj
objections .

(v} No need to pre@un the bill
by the Presi
{vi) Rajya Sab& 't amend the bill

A @ (i) V)
(B) (i) (v} (vi)
(C) (i) (v} (vi)
D) |0 i)
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141, I e 1 Tl T2 =1 g=ed F10
* way 1w Fofa 3 2, o=t aew
I08 gend 92 2, 9 e

(A) o= =1 Fify ey @ =z % oo
AT B
(B) Tr=ifid Tewd, §ed o HHe e Fom

(C) we =gwa & Frofa @
(D) Trzufa BEaE i

142, TR SR dsmad i ?
(i) Trlt oft A gt

AT Hehell B
@uﬁéﬁamﬁwﬁa%mm

1 TG T JAGT

(iv) Treeafe wEae i § 3R A
1 et wfed Gug & FvE 99
TRt 3

(v) fordraes gl & qHewmar 4
ATErTHal 76 8

(Vi) TEET S8 o wee T8 wendt

(Ay () (i) (v

By (i) (v} (vi)

(C) (i) (v} (vi)

O) @ v (i)

0\0 HHAT 8
QQ (i) 2t i % g e

T T o foTu s
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143. According to the census of 2011,

what was the population of India ?
{A) 121.06 crore
(B) 100.02 crore
{C) 111.02 crore

(D) 131.02 crore

144. |Interest Rate Policy comes under

which of the following policy ?
(A} Monetary Policy

(B) Fiscal Policy

(C) Industrial Palicy

(D) Agriculture Policy

145. Who of the following had fgun @ e

‘Prarthana Samaj’ in M tra ?
{A) Ramkrishna @ﬂandart{ar
{B) Vishnushastri Chiplunkar

(C) Jyotiba Phule

(D) Mahadev Govind Ranade

0125/NH - BNWRCE - E

143. 2011 S SFRIOHT = AT TRE i SEeE
femareft ot 2
(A) 121.06 FIZ
(B) 100.02 g

(C) 111.02F7
(D) 131.02 w02

144. =09 = fifg Fafafea 0 9 s sralq
STt B ?@
(A)

. (w%
L 2

} aftenfies Hif

)
S

145, Frefofas &4 fre memme § b amns
1 T ot 7 |
(A) TIOFEI TTE TSR

(B) Tersopemht feraegorent
(C) waifoa Fet
(D) #ERT s e

I ®E % feg T
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146. In v.irhich of the following region
Birsa Munda was the leader of tribal
revolt ?
(A) .Santhal Pargana
(B) Chota Nagpur
(C) Telangana

(D) Malabar

147. The atmospheric layer where most

of sun's uliraviolet radiation is

0125/NH — BN/RCE - E

146. Frerfafias § 3 fem a3 d o qosn
AT forsie = e 9 7

(A) Feme O
(B) BTe1 AT
(C) e

(D) e

147. =@ gyt wa sE gd it sl
T MUEGRAG R

absorbed O

(A) Troposphere N w

(B) Stratosphere {;} EZEHR

{C} Mesosphere (C) harfera

(D} lonosphere (D) FTEATREFR
148. Which planet is known ‘& 148, HITEI MR “GR Hee ® A % AW

the solar system” 2 @ ST SR 7

(A) Earth ® (A) Tl

(B) Mars (B) W

(C) Jupiter (C) Faeafr

(D) Saturn (D) w1

T W+ o s
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149.

150.

-47-

If a bill passed by the State

Legislature, Governor sent it to the
President, President returns the bill
to the State Legislature with such
objections. The State Legislature
considers and pass the bill again.
Now the President

(A) is bound to approve the bill

(B) can refuse to approve the bill

(C) can use the power of veto on the
bill

(D) central cabinet will interfere

Match the following :

(i) Rule making
procedure

(i) Procedure
established
by law

(iii) Supremacyof (c) United
the Constitution  King

(iv) Nomination of [d]o..la

members in &

(a) United States

(b) Ireland

Rajya Sabh

@ ()X @
A @ G (v (i)
| @) v 0 ()
© (i) (v) () (i)
(D) (v) (i) (@) ()

4

150.

\(ﬂ)ﬁﬁmmﬁﬁ (b) STEEIS
O i
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149, uf v fadTs sy faum avew R TiiE

Bl ST 8, T 3 3 ITE;Q{:T%W =
T, v 3 ferdeh bt @ SArf Wiwd
=g faumEved % 9 SME S | T
farmmves 3 e = 38 gan i o |

SERAI

(A) ferdrares T weliepfar 3 % fo =
(B) Tordveren wt wefiepfes 371 & o R wawa @
(C) Tty w Treneerm =BT S o Wl &

(D) <1 Af=aved TEaa S
fifo

ﬁg@;@“ ﬁ?m

(ifi) wfaem i (c) Fses fren

| |
(iv) Tea d g (d) ST
CaRecicer

@ ® © (@
A O i) W) (iit
® @ ™ O
@ (i) v O @
© v i) @ G

& &M@ % o e
Space for Rough Work




0125/NH — BN/RCE - E

| seT- B

A B R

maiﬁmaaﬁmﬂﬁ'a: 3%

Time for marking answers : 3 Hours

siftreraw 3t - 150
Maximum Marks : 150

7) GeTeral Knuwledge =1l

Each guestion carries 1 mark. All questlnns are compulsory.
2. indlca;t your answers on the OMR Answer-Sheet provided.

1/4 m

oW

k will be deducted for each wrong Answer.
Use of any type of calculator or log table and mobile phone is prohibited.
While using Answer-Sheet care should be taken so that the Answer-Sheet does not

get torn or spaiI\ed due to folds and wrinkles.

e
1.
1-20
21-40
41-60
61-80
81-100
;ia;w 04120
= @Sﬂ
u?ila:m1|aﬁﬁm% | T 150 oA i arfiamd 2 | O
2. 9 % I, 9 T OMR Fe-iie (Aiet-3fiz) 9 ifera |
3. Teld I HiEd 0 9 1/4 FeE FE S | .
4. Tl off ot & Shetgele 91 9 d9d U yam a2 |
5. Dhiztjm—?ﬁz (srie-¥fiz) =1 S FrEmEyr A R e e we 9
1 3H Arg A fieae ol ve ST I8 @ B S|
Note : Q '
1. This Question Booklet ta@ans—
1) Geperal Knowled 1-20
2) Inc*ian Econ 21-40
3) Arithmetic an ical Ability 41-60
4) Computer Related Knowledge 61-80
5) Hindi Language 81-100
6) English Language 101-120
121-150



